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Ql. udiarh g & dgr 99 Hfa|
d@eT
Ans: T
Q2. fEAramw ereg &1 fawiet erg |
o
Ans. dg
Q3. "3IWEr & AT fedr AT HeIaY & el 37 Al
Ans: TET TTY TE=T grenm
Q4. did 35 T &1 T arsg o vehad [Af@T
Ans: oIl 35 T &
Q5. ‘¥ U T & AT & Fgaa fAfav]
Ans: g6+ U T &
Q6. is the synonym of 'FANTASY".
Ans: Imaginary
Q7. is the antonym of 'JEALOUS'
Ans: Unenvious
Q8. What is the meaning of the phrase, 'read between the lines'?
Ans: finding meanings that are intended, but that are not directly expressed
Q9. The sentence has an incorrect phrase, which is shown in bold and underlined. Select the option that is the correct phrase to be replaced so that the statement is
grammatically correct.
Ten new members have enrolled and seven has resigned.
Ans: have resigned
Q10. Complete the sentence by choosing the correct word from the given options.
Ajay skidded on his motorcycleand  up in the hospital.
Ans: ended
Q11. Chhatrapati Shivaji Maharaj was the founder of
Ans: Maratha empire
Q11. s>fer oMt ABRIST of fdb AL O ofiq 3xdt &i?
Ans: FRI0I AT
QI12. was considered the political guru of Mahatma Gandhi.
Ans: Gopal Krishna Gokhale
Q12. fowolferRad ¥ 3 fop Aalcal slitft DI IAstoiifcd 3> Aol Sl 37
Ans: SNUIeT HWT 3R
Q13. India recently played the pink ball test match in Kolkata against
Ans: Australia
Q13. 91271 ot 3t 8t 3 bt fepde a1 B g DleTInr 3 uset ft dier ¢ Jia et en?
Ans: sif¢ier=n
Q14. The Statue of Unity is a colossal statue of Indian statesman and independence activist
Ans: Sardar Vallabhbhai Patel
Q14. 3¢y 3iiw Yforct sRelRr IS0l 3iiz IacsIdr Jotolt &l uop fdorret ofef 3
Ans: IRGR qeeBIS Ueel
Q15. Which one of the following shipyards is located in Visakhapatnam ?
Ans: Naval Dockyard
Q15. fowafciRar 3t 2 blot 1 RIS oot I Rerd 37
Ans: oldel SiaRns
Q16. Who won the Third Battle of Panipat in the year 1761?
Ans:  Ahmad Shah Durrani
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Q16. ad 1761 31 afee uretiud @I eI g fbio Sfiar en?
Ans: 389G 9118 gRiofl

Q17. Before Kannauj, was the capital of King Harshavardana.

Ans: Thanesar

Q17. wooilsl 3 UBd, ST Buidelol &I st o

Ans: eoRR

Q18. After the 1857 Revolution, the Ballabhgarh State of Tewatia Jats was abolished and its king, Raja Nahar Singh was by the British.

Ans: hanged to death

Q18. 1857 &t wifcl & dig, AafeRI Sl B ST ACCIINPIG DI JHE B2 ORI SRII 3112 33D IS, AT o1z Big @t siksil grRI |

Ans: BRI U2 cledl & srn

Q19. As on 1-December 2019, who is the Minister for Education in the Haryana Assembly?

Ans: Shri Kanwar Pal

Q19. 1 3wz 2019 31, aivmvn fdensren 3 o 3t Dot A?

Ans: ¢t ©a2 uret

Q20. has been recently appointed Chief Justice of Punjab and Haryana High Court.

Ans: Justice Ravi Shanker Jha

Q20. forotferRan 3 3 fop3 aret 3t 3t USId 3Tz BRRIT 3T RIRICRI DI FIRT oRIRIEd ol ORIk fipen srI 37?

Ans: Si3ed 2fd i 31

Q21. Who won Mrs. India Tourism Universal-2019 from Haryana?

Ans: Mrs. Manisha Gaur

Q21. sf=mvn A BRI st cfesa forazier-2019 ot Shieft?

Ans: i Fofier sis

Q22. Sandeep Chaudhary and Sumit Antil bagged gold and silver medal respectively in Para Athletic Championship held in Dubai. They won these award for which
sport?

Ans: Discuss Throw

Q22. 3idiu dierdt iz Jfr siferet of gas I ARSI U1 verifed AfFWRIGHIT 3 chaor: Iavt 3l F51d ugd Sfidn 3calel A Y2I®IR [ Aet & fere Sfiar 3?2

Ans: 3¥oa e

Q23. Which two sportsperson of Haryana joined Bhartiya Janta Party (BJP) recently?

Ans: Shri Yogeshwar Dutt and Shri Sandeep Singh

Q23. zret 8t 3 aimun & Dlet 3 ot Ractist $RARI Sioldr urct (91rs1ar) ¥ onféret gu 37

Ans: ¢t JEIaR & SIR Ay RBis

Q24. Which is the first national newspaper of Haryana?

Ans: Jan Satta

Q24. sf¥un @l usell AR AARIR U5 DlorAl 37

Ans: Sof KT

Q25. Rajaram Shastri wrote novel in Haryanvi language.

Ans: Jhadufiri

Q25. IR o5t of fRnurd s 3t UG feran

Ans: smswis

Q26. Bhadiyon ke Dhang was written by

Ans: Khushi Ram Sharma

Q26. ASA I Bo1 &b gRI ferar sk em

Ans: g0t 391 ot

Q27. Which play was NOT written by Harshavardhana?

Ans: Harsha Charita

Q27. fowsifciRan oiic! 3 auatiel of dlel A slicd olal ferar en?

Ans: s af¥a

Q28. Sahibi river originates in which amongst the following districts?

Ans: Pinjore

Q28. it sict @ 359 foreot 9 3 fapat foret 3t i 87

Ans: fUslR

Q29. Which amongst the following lies to the southwest of Haryana?

Ans: The Aravali Range

Q29. fowolferRad ¥ 3 a1 simun & signi-ufe 3 R 87

Ans: 3RIAe! yddaen

Q30. Which district of Haryana has the largest forest area?

Ans: Panchkula

Q30. af¥=mun &b fobr fSret 31 e ST ol &1 87

Ans: targen

Q31. Anangpur Dam is located in which district of Haryana?



Q31. .
Q32.
Q32.
Q33.

Q33.

Q34.
Q34.
Q35.
Q35.
Q36.
Q36.

Q37.

Q37.

Q38.
Q38.
Q39.

Q39.

Q4o0.

Q4o0.

Q41.
Q41.

Q42.

Q42.

Faridabad
3reieIy2 dier aiRmun &b fabat foret 31 Ber 32

BIAGEIG

Who is the current deputy speaker in Haryana Legislative Assembly?

Shri Ranbir Singh Gangwa

Bl [erermen 3 acderel Bw i Pl 37?

ot Jurdlz Ris siorar

Panchayat Samitiisthe tier of the Panchayati Raj in Haryana.

first

UarId Al shemn & dvarrdt e bt At 3

retaid

Which district of Haryana was declared as open defecation free (ODF) in August, 2018?
Rewari

ai¥=rmon & b2 fSret Dl 3P, 2018 9 et 3 olia F7p (NSTew) Hifti e SR er?
Jarst

There are two main types of crops in Haryana: Rabi and Kharif. Which amongst the following is NOT a Kharif crop?
Mustard
sl 3 S e YR Gt Bcl &: At 3l 21w fowoiferRad 3t 3 dlol TRIG G wiel ol 87

1A
Data is represented in computers in form.
. Binary
Ser ot FU 3 PRIC A GoIRI S 3l
ot
1 | Process a | Creation of new process
2 | Fork b | Exchange of data between
Match the terms related to operating systems and their meanings. processes
3 | Interprocess c | Program in execution
communication

1-c, 2-a,3-b
JHroxfEar feew ¥ wdfta fawg & 39% 3 & ary e
1 R a o5 gfghar & faT
2 WiH B Wihamsft & & &1 @
HTeT=1-HeT=T

3 SR SEgfernee C wramH e #

1-c, 2-a,3-b

Bar code reader is an example ofa/an ~ device.

Input

MRpsAs Basd ol v 368 3|

$olyc

In Internet parlance, SSL stands for

System Socket Layer

gcolc o 3, SSL oI SRifdr Fu gl 3|

Bred Jdide cRR

Pick the odd one out.

Mercury, Moon, Jupiter, Saturn, Venus, Earth
Moon
9T DI <RIeT B

g1, dgdl, gaeulet, orfor, 9pep, gedt

dgar

WAR: DESTRUCTION: : SMOKE : ?

POLLUTION

.5 fdotror: :ggatl: ?

NI

In the series 9, 12, 10, 13, 11, 14, . What comes next in series?

12

&t oreft giaen oot 3faw: 9, 12, 10, 13, 11, 14, | %ieln 3 3PTCT 3idh TRIT BIoT?
12



Q43.
: TUTDNES

Q43.

Q44.

Q44.

Ans:

Q45.

Ans:

Q45.

Ans:

Q46.

Ans:

Q46.

Ans:

Q47.

Ans:

Q47.

Ans:

Q48.

Ans:

Q48.

Ans:

Q49.

Ans:

Q49.

Ans:

Q50.

Ans:

Q50.

Ans:

Q51.

Ans:

Qs1.

Ans:

Q52.

Ans:

Q52.

Ans:

Q53.

Ans:

Q53.

Ans:

Q54.

Ans:

Q54.

Ans:

Q55.

Ans:

Q55.

Ans:

Q56.

Ans:

Q56.

Ans:

Q57.

In a certain code TEACHER is written as RAECEHT then how will STUDENT be written in that code?

b Aidfcis s 3 TEACHER @ RAECEHT & %u 3 fordr srn 3 dl, 331 Aidfcias smer i STUDENT @bt 31 forar sosn?
TUTDNES
Simplify.
512 400
{?+ (2x 9)}—{2 xﬁ+ 1}
41
IMcfiapur HifSte:
512 400
{?+ (2x 9)}—{2 XE-F 1}
41
A man buys a watch for Rs. 2400 and sells it at a loss of 15%. What is the selling price of the watch?
Rs.2040
P 311Gt 2400 IR 3 v TSt Ited 3 3= 334 15 uferord &t aifol U= & Sar 31 ast ot fawbe e=T =i 87
2040 3w
A vendor buys 10 dozens of toys at the rate of Rs.600 per dozen. He sold each toy at the rate of Rs.55. What is the profit percentage?
10%
b ds2 Ufel golol DI 62 A 600 I ¥ 10 Golor Raetlol Tieer 81 3ol Uedd Raeilol B 55 SU Gt 62 A Sl e Ul Pl SIId D3|
10%
80% of 60 is greater than 70% of 40 by
20
60 @ 80%, 40 B 70% A aifero 3l
20
What type of lens is used in a microscope?
Bifocal
HISOIFDIU H DA UDR &b ¢l DI JU=NIeT eI SiIedr 3?7
fgonfor
In a food chain,which of the following is a “producer’?
Plants
U XMl YR 31, fowalfeiRad 9 3 dlol v “fomEiar 3?
dix
What is the pH value of pure water?
7
91 Ulelt @t pH Jret =1 37
7
The important role of a Secure OS developer is
to provide user access and authorization.
RraRilz OS Sactuz &t dscayuf gifdest 3 |
SURISIDAL Pl UEH 3fIR UIEID2VT USTel ol
‘Which one of the following is used to input audio and record different sounds into the computer?
Microphone
forgatferRa 3t 3 fbtopt IuRiel 3iifS:l Sorgc Dol 3l PRI I Aol caforil I DS Dot & e faven siar 87
FAISCDIWIOT

Computer Security Classification of permits user groups for access control.
Type D

Dl DRI Y261 dofldT M ORIV B fe1e SuRSIDdl ST DI 3rofdfe] Sl 3l
usrR D

____isaprogram threat which executes illegal action without the user's knowledge.
Wom

U URIH R 3 Sl SURIPKDAL P Sl O 6l 3idel PRAS DA 3l
dist

The transforms are

customizations added to the installer packages.

SIo2WIFRY I 3l

goAclcez Udsl & Al IS SlloldIct lojdeioll

Which among the following cannot be performed by the transforms?
modification of information in sub-storages.

fortfeTRia 31 3 wlel 3, CroIWIg gRI Ug9ldl, ofdl fdvarr ST Jeer 8?
3U-${STUT 31 Iell I uf¥adiall

‘Which of the below actions would include an embedded transform to the transform list?



Q57.

Q58.

Q58.

Q59.

Q59.

Q60.
Q60.
Q61.
. boot sector

Q61.

Q62.

Q62.
Q63.
Q63.
Q64.
Q64.
Q65.

Q65.

Q66.
Q66.

Q67.

Q67.

Passing the @ symbol in the transform list.

o) & 31 PRarsl 3 3 Diol-21, cRIwie i 3, BdSS cRIwid D 9nfdiet ddi?
ciRIwis 3t 3 @ Uedid urRt w2

You are provided with spec.msi, pritl.mst and prit2.mst in the following:
E:\Data\Specify.

Identify the right command to apply prit.msi transform.
E:\Data\Specify>msiexec /I spec.msi TRANSFORMS=prit1;prit2
fomatfe3a 3 smuast spec.msi, pritl.mst iz prit2.mst e a1 3:
E:\Data\Specify.

Prit.msi ¢lwiel clis] B2t &b 1w A&l Dais Dl usdroil
E:\Data\Specify>msiexec /I spec.msi TRANSFORMS=prit1;prit2

Choose the transform type for the following:

@:tremp2.mst;trempt1.mst

@tremptl.mst;:trempt2.mst ?

trempt2.mst is an embedded transform.

trempt].mst.mst is a secure-full-path transform only if the TRANSFORMSSECURE property is set.
foatfeRRand & fere R UDR gol:

@:tremp2.mst;trempt1.mst

@tremptl.mst;:trempt2.mst ?

trempt2.mst 0P LIISS CRIBA 3l

i daet TRANSFORMSSECURE uiiue] e & 318 &8, dl tremptl.mst.mst e JRASIA-yol uer ciomwiel 31

‘Which one of the following tools is used for the creation of a new boot sector ?

Msconfigboot

forgafe1ac 31 2 Dlol AT IUDWI 618 ¢ Adc2 b [6wEAlur & fere Iu=ilet eI Sirr 3?7
Msconfigboot

Presence of  virus type does not degrade the system's performance.

_ UDR P s Dt 3ufFefe, uuiredt & usoler @, offar oidl wxdl 3l

g A2

Bablas is an instance of _ virus.

resident

QeI AR DI TP 3181 3

IRST

Which among the following is not an example of macro virus?

Hancitor

fotwfeTRia 31 3 ol Hcbl ARIZA T IGIEUI o16l 87

Bilk1c2

Identify the first computer virus and what was the purpose behind its creation?

Creeper was created to demonstrate that the self-replicating program could be transmitted between computer networks.
UGl PRICI ARIA DI UgdIel B2 313 D fomAiun b Wied =it 389 en?

tOIUR 5 UGSl P20l P fo1e JolRl SRI o fb PRI okdd P diid Fa-Uferpier Wele Pt TR fds=nr ST b 3l

Which of the below tasks is not performed by an AV program?

Development of codes for the users.

AV ©Rica grI ofld fGu s1e oRif 3 A Blol 21 orf o1&l fdser s 82

SWRIPIDALSI P e IS @I [dpRI Dol

You are required to upgrade a OS from 32-bit to 64-bit. Which is the right step and system type to determine the system compatibility for the same?
Start-->Computer-->Properties-->System-->System Type-->64-bit Operating System, x64-based processor.

3IUPI 32-feie 3 64-fe D 3MEA DI USIS DI AAAD 31 IR B 18 RBrres IAsrddr foraii¥a w2l d fore 318l woa 3iik RBres UoR it 1 8?
¥FIE -> DRI -> UUTel-> Bred -> Bred UpR -> 64-fde sifufder Bred, x64- smenya URRRI

After removing your first hard-disk, the following error appears while rebooting the system,
"Press F2 to enter Setup".
What is the possible cause and how do you proceed further?

Cause :The changes in the Hard-disk are not reflected in the BIOS setting .By default, it tries to boot from the first harddisk.
Solution:

i)Press enter and choose 'Advanced BIOS Features'

ii)Change "IDE Auto-Detection" to 'Auto’

3Muail usell ars- &3 @l forictol b dig, Rred @l f¥ge w3 AR oot Ffe fGars et 8,

"3y 3 ud9r Bl d e F2 s’

il PRUI TRII 3 3l 311U 316! DA deel 87

PRUL 8IS-83® 3 ul¥adet, BIOS Afdst ¥ ufseiidid, oidl 3l 31 f¥wice U 3, As Uscll sISISID A ¢ Dol P WRIRI DI 3l
2ol

i) Be2 oum 3iiR 'wsais BIOS GRRi goll

ii) "IDE sifel-f&eaorat" &t 'Auto' 3 gaet



Q68. There are unresolvable errors during booting of a Dell computer.
How would you overcome?

Ans: Resetting to the default values in CMOS may help.
Steps are:

i)Enter CMOS.
i))Use shortcut F10.
iii)Press Y to confirm.
iv)Save and exit.
Q68. v Sel DRIE2 D Yfeal B GlIel Adey Add fei 3l
DA UR uBiel?

Ans; CMOS 3 fwice d16ill @ SR B0l A g Biet Awmdd 3l
R B

i) CMOS &al @3
ii) ofidape F10 oI 3u=iler o3I
iii) gfte 3ot b e Y carsl
iv) 3Ja @3 3iiz a1s2 foracil
Q69. Which of the below processes requires you to take memory dump for error deduction?
Ans: Manual Installation
Q069. forat 3 31 Dot i ufcoen 3 ,3MUD! FfE Bl P e, At SU clol D JTaADT 3?7
Ans: Jloj3IeT FeUoll
Q70. Which among the following tools can help you to disable advance debugging in windows ?
Ans: SymChk
Q70. forFor 3uduil 3 3 Dot 3MUD! [dSIar 3 3P SHafdier I 31813 Dol 3 AGT B2 ADA 3?
Ans: SymChk
Q71. Which two components of windows XP are read by NTLoader
during the boot process?
Ans: BOOTMGR and boot.ini
Q71. gg ufepn & cl3tet, Windows XP & il A dl @cd, NT Loader giRI U6 St 8?2
Ans: BOOTMGR 3iIz boot.ini
Q72. Which among the following helps in managing Registry in Windows10?
Ans: PowerShell
Q72. fowaifeiRad 3 A Dol [dSist 10 3 AR P Udtret 3 Acs Dkl 87
Ans: dfaglet
Q73. Which of the following actions are not performed during the PreBoot Execution Environment Boot method?
Ans: The Preboot Execution Environment requires 8 GB of RAM to perform automatic installation .
Q73. Uige vaIaR]gI6l UoldRRéIC e fAftl &b Sllol fowoifetRac 3t A wlol 2 pRars o &t siedt 87
Ans: tigg TaRARIgI6T UoldRRAC Pl JqaIeId Feuat 2ol & fore 8§ GB RAM & sragarasdr akdt 3

Q74." ' level languages are used to write the system software and ' ' level languages are used to write the application software.
Ans: Low high

Q74." ' FA3ier s1erait bt SuRIleT B31ecd ATtz fordol & fore fdsen siar & iz ' ' I VI3 DI IURDIST Bfterd>9le] AuedIR férRdol & fote o St 3
Ans: ofl, 38

Q75. Which of'the following is the Low level language used for system programming?

Ans: Pascal

Q75. 3ot 3 3 Dot 2 foor IAIRT 9o & St RBres UienfdieT b fo1e Iu=IeT B St 3?

Ans: URR®DcT

Q76. The octal number system consists of  digits.

Ans: 16

Q76. sliqeci RN WuIclt f  3id Bl 3l

Ans: 16

Q77. Flooding the internet with emails or text messages to a large number of users is called

Ans: Spamming

Q77. a3t I3 3 SURNEIBAIST Bl $AET A CTITT AASRI B AR $TIolc D dIG Soll D&l I 3l

Ans: ifdfr

Q78. The high level language converted into machine/binary language is called as
Ans: source code

Q78. 3o 3 9ImI <l Fofiol / Srsol3t i I % oret 3 uf¥afeld fasen St 3

Ans: ARi©Is

Q79. TeraData, IBM DB2, MySQL and Oracle are examples of __ application Software.
Ans: DataBase

Q79. TeraData, IBM DB2, MySQL 3iiz Oracle utefidorel AR b IGIET 3l
Ans: Serdd



Q80. Which one of the following is NOT a data compression program?

Ans: Unix

Q80. fowaifeiRad 3 A Dlol Scl DRIYIGT TSI oSl 37

Ans: JforaAa

Q81.  software is a type of business software which is specifically designed for automation of strategic processes and rapid development.
Ans: Business Process Management(BPM)

Q81l. _ JiiUcdRR U UDR Pl RRAIRD AlUedR 3 BRI [A9M U 3 iciifered ufehansii &b adrctol 3l asit 3 ARt & fe fSeiset e srr 3l
Ans: feGIoRI U3 dolsidic (BPM)

Q82. Out of the below options what defines the 'Operating System'?

Ans: Software which is an interface between computer hardware and the end user

Q82. ol e sr1e e 31 A 'sifufdsr Brrea' ar=im ufSsnfta o 3?

Ans: AMCRR Sl PRI SRR 311 3id IUAPIDA! P did b $e3BA &

Q83. Which of'the following is the discontinued operating system?

Ans: Palm

Q83. fowafciRaa 3 3 Dot A1 sifuRfesr RBrex 4 3?

Ans: Ut

Q84. Which of the following is not an Operating System?

Ans: Chrome

Q84. fowaifcrRar 31 A plat situfesr Brecd oiat 37

Ans: Dl

Q85. Which of the following is a non GUI operating system?

Ans: Dos

Q85. fowoifetRac 3 3 Plol A B oifel GUI sifufsr Rzea 8?

Ans: S

Q86.  redundancy includes additional programs, modules, functions used to support fault tolerance.

Ans: Software

Q86. 3ifeR® 3 3ifeiidp UleIdd , HAISYeT, BI9I6T MMt & [SIolbl IURNST SIctcdl AT DI AdHelol Dol & 1w foben et 3|
Ans: Afted=R

Q87. An example of a Desktop publishing softwareis .

Ans: QuarkXPress

Q87. 3@ty ufectfdir AU &l Uh 338/ 3 |

Ans: QuarkXPress

Q88. The two techniques used for securing fault-tolerant software are the

Ans: Recovery Block Scheme and N- Version Programming

Q88. wice- ¢ieRe AUcdRR Dl P& Dol b o1 IS Dl Siiol dctl 3 Fdolid 3l

Ans: Rpall selicp Aisiol 3112 Uol- dsiol UisHider

Q89. Modem stands for

Ans: Modulator- Demodulator

Q89. IS P AT g

Ans: difgeie? - Stalgcic

Q90. Which of the following options defines the system back up?

Ans: Copying of physical or virtual files or databases to a secondary location for preservation in case of equipment failure or catastrophe.
Q90. fowat 3 3 Plot 11 fdebey Bizcd A3 Bt ufFenfid war 3?

Ans: 30T B fABerdr =1 denst B feifer 3, Jzemor b fore il =1 iRt Gscll =M Serl &, v fgire Ferer uz uferfeift getron|



